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UNT? SECTION :5 WNRGHIP :20S o

L: 10007 H: 10007 v | 6/eIX : 1,304 M= o= 1321%
$002 :  0.206 0,001 2. DATE :12/12/00 . " IRt
d: L4l Fr :0.010763 » 13049.1 RANGE :2TE 0.0 ERR ¢
zzaz=s= 0.0 ER ¢
YOL 1 : 11§ PSIAL: 1332 RESV.TEMP  174.] Pe2-Pw2= 3386 Pw2=  18.0
VoL 2 : PSIA 2 : ERR ERR
YOL 3 : PSIA ] : SHUT-IN PR= 1859.2 ERR ERR
YOL 4 : PSIA 4 ; ERR ERR
PR: 653 n= 1000
TR : 533

Pcd/(Pc2-Pod) = 1005

LINE | RATE 1 RATE 2 RATE ] RATE 4 ERR
ERR
ERR

1St "D 18T T "D 18T "I

T | 0.1 | 0.06| 0.000| 0.000| 0.000 | 0.000| 0.000 | 0.000
? W sS4 S| sM | S| S| S| 5w 534 || [Pc2/pc2-Pu2fn = 1,005
It 6] 61| e41] 841 61| el 1] 64l ERR
¢ 1 5940 | 5840 | S840 | S840 | SBe.0 | SBL.O| S840 | 5840 ERR
PR (est) | 0.20 0.00 0.00 0.00 ERR
Salest) | 0.921| 0.904 | 0.000| ER | 0.000| ERR | 0.000 | ERR

m s8] 5790 00| ER | 0.0] R 0.0 R MP=Q 0.107
7 @M | .65 17| ERR | ERR | ERR | ERR | ERR | ERR ERR
B 20| 257 | ERR | ER | ER | ERR | ERR ERR ERR
9 leS | 0.597| 0.604 R | ERR | ER | ERR | ERR ERR ERR
0Bt w12 00 00| 00| 0.0 0.0

0.0

11 pt2 /1000p 177 17,1 0.0 0.0 0.0 0.0 0.0 0.0
12 Pr  {0.010763 |0.010763 |0.010763 {0.010763 [0.010763 |0.010763 |0.010763 0.0107631
13 PesPrTs | 5.788 | 5.662 | 0.000 ERR 0.000 ERR 0.000 ERR
14 Fcgm 0.67 0.66 0.00 ERR 0.00 ERR 0.00 ERR

15 L/H{Fcqa) 0.5 0.4 0.0 ERR 0.0 ERR 0.0 ERR
Fw

16 0.269331 {0.262512 ERR ERR ERR ERR ERR ERR
17 MW 18.0 18.0 ERR ERR ERR ERR ERR ERR
18 Ps2 4.7 45.5 ERR ERR ERR ERR ERR ERR
19 Ps ALS L2033 ERR ERR ERR ERR ERR ERR
0 P 1.4 173.2 ERR ERR ERR ERR ERR ERR
n 0.26 0.27 ERR ERR ERR ERR ERR ERR
n 1.10 1.10 1.10 LI 1.10 1.10 1.10 1.10

M W W W N M M M M M N M M M M M W M M- M M N M W M N W s W W M- M M M M 3 W W

B 1 0.904 | 0.904 ERR ERR ERR ERR ERR ERR FORM C122-D




